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Initial sample NHANES 2001-2018
aged 20 years or older
n=50201
+| Excluding participants who are
] pregnant, n=1258
Remaining sample size
n=48943
Excluding participants without
»| dictary data, or have abnormal
Y energy, n=6068
Remaining sample size
n=42875
« | Excluding participants without
v ~ laboratory data, n=23990
Remaining sample size
n=18885
Excluding participants taking
»| lipid-modifying medications,
Y n=3436
Remaining sample size
n=15449
Excluding participants with
»| diabetes, without covariates data
—Y . n=2589
Remaining sample size
n=12860

Figure S1 Flow chart for screening of research subjects
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FigureS2 Regression results of the mediation analysis models. Mediator: HOMA-IR/ insulin;

exposure: vitamin K intake; outcome: TG. Path a assessed the association between mediator and

exposure. Path b measured the effect of mediator on outcome. Path ¢ measured the total effect and

path ¢’ measured the direct effect. The regression coefficient (standard error) was shown on the

paths. Total effect = direct effect + mediated effect(a*b), there may be minor differences due to the

limitations of the number of decimal places that make the above equation not valid. *** P<(0.001;

** P <0.01; *P<0.05
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FigureS3 Regression results of the mediation analysis models. Mediator: HOMA-IR/ insulin,

exposure: vitamin K intake, outcome: HDL. Path a assessed the association between mediator and

exposure. Path b measured the effect of mediator on outcome. Path ¢ measured the total effect and

path ¢’ measured the direct effect. The regression coefficient (standard error) was shown on the

paths. Total effect = direct effect + mediated effect(a*b), there may be minor differences due to the

limitations of the number of decimal places that make the above equation not valid. *** P<0.001;

** P <0.01; *P<0.05.



